
Chapter 13 Supplement 
 

The imperfect of ����� is conjugated as follows 

 

Plural Dual Singular   

(3) 

���������	 
They are 

(2) 


��������	 
They (two) are 

(1) 

������	 
He is 

Masc

. 

(6) 

�
���	 
They are 

(5) 


��������� 
They (two) are 

(4) 

������� 
She is 

Fem. 

Third 

Person 

(9) 

���������� 
You are 

(8) 


��������� 
You (two) are 

(7) 

������� 
You are 

Masc

. 

(12) 

�
���� 
You are 

(11) 


��������� 
You (two) are 

(10) 

��������� 
You are 

Fem. 

Second 

Person 

(14) 

������� 
We are 

(13) 

������� 
I am 

Masc

. 

First 

Person 

 

 

�����	 (he is not) has no 
��
����� (imperfect) 

 

 

The imperfect of �
��� is conjugated as follows 

 

 

Plural Dual Singular   

(3) 

�����
��	 
They become 

(2) 


����
��	 
They (two) become 

(1) 

��
��	 
He becomes 

Masc

. 

(6) 

����
��	 
They become 

(5) 


����
��� 
They (two) become 

(4) 

��
��� 
She becomes 

Fem. 

Third 

Person 

(9) 

�����
��� 
You become 

(8) 


����
��� 
You (two) become 

(7) 

��
��� 
You become 

Masc

. 

(12) 

����
��� 
You become 

(11) 


����
��� 
You (two) become 

(10) 

�
	��
��� 
You become 

Fem. 

Second 

Person 

(14) 

��
��� 
We become 

(13) 

��
��� 
I become 

Masc

. 

First 

Person 
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The imperfect of ��������  is conjugated as follows 

 

 

Plural Dual Singular   

(3) 

�	���������  
They become 

(2) 

�	������
��  
They (two) become 

(1) 

�	������  
He becomes 

Masc

. 

(6) 

�	�������
  
They become 

(5) 

��������
��  
They (two) become 

(4) 

��������  
She becomes 

Fem. 

Third 

Person 

(9) 

�����������  
You become 

(8) 

��������
��  
You (two) become 

(7) 

��������  
You become 

Masc

. 

(12) 

���������
  
You become 

(11) 

��������
��  
You (two) become 

(10) 

��
�������  
You become 

Fem. 

Second 

Person 

(14) 

�������� 
We become 

(13) 

�������� 
I become 

Masc

. 

First 

Person 

 

 

 

 

 

The imperfect of ����� is conjugated as follows 

 

 

 

Plural Dual Singular   

(3) 

������	���  
They become 

(2) 

������	
��  
They (two) become 

(1) 

� ����	 
He becomes 

Masc

. 

(6) 

�����	�
  
They become 

(5) 

�������
��  
They (two) become 

(4) 

� ����� 
She becomes 

Fem. 

Third 

Person 

(9) 

����������  
You become 

(8) 

�������
��  
You (two) become 

(7) 

� ����� 
You become 

Masc

. 

(12) 

�������
  
You become 

(11) 

�������
��  
You (two) become 

(10) 


��������  
You become 

Fem. 

Second 

Person 

(14) 

� ����� 
We become 

(13) 

� ��!�� 
I become 

Masc

. 

First 

Person 

 

 

 

 

 

147B 



The imperfect of ����� ��� is conjugated as follows 

 

 

 

Plural Dual Singular   

(3) 

����"��#�	 �$ 
They still are 

(2) 


��$��#�	 �$ 
They (two) still are 

(1) 

�%��#�	 �$ 
He still is 

Masc

. 

(6) 

�
&"�#�	 �$ 
They still are 

(5) 


��$��#�� �$ 
They (two) still are 

(4) 

�%��#�� �$ 
She still is 

Fem. 

Third 

Person 

(9) 

����"��#�� �$ 
You still are 

(8) 


��$��#�� �$ 
You (two) still are 

(7) 

�$�%��#��  
You still are 

Masc

. 

(12) 

�
&"�#�� �$ 
You still are 

(11) 


��$��#�� �$  
You (two) still are 

(10) 

��
"��#�� �$ 
You still are 

Fem. 

Second 

Person 

(14) 

�%��#�� �$ 
We still are 

(13) 

�%��'�� �$ 
I still am 

Masc

. 

First 

Person 

 

 

 

����� ��� (so long as, for as long as) has no 
��
����� (imperfect) 
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